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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.

UREA-GREdehT foedl Td 3Ieh Hwr # ¥ odemil s foma
¥ fou frelt off Ueh 9T T T IR FehaT § (31ATT AT A
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one language (i.e.,
either Hindi or English)

H ARYA/UR & g HPT &1 AT vh H IR g iR smr
g & ofg usa &

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T T “dbfoud” TSR @ & odd $ol 376 40 & AT
1T &), “TIFhIE” UHR & 3R 585 Fol 37 60 &

PART ONE is Objective type and carries 40 Marks. PART
TWO is subjective type and carries 60 Marks.

9T TP & 3N, 5§ URA-UF & AU & IS MNTHNR FaT-
gfeasr W, 389 @A U srgeet & e & F = R
AT ) H S-GRTH F HET TH F IR A A A
=ifevl

PART ONE is to be answered in the OMR ANSWER
SHEET only, supplied with the question paper, as per the
instructions contained therein. PART ONE is NOT to be
answered in the answer book for PART TWO.

PT T & fov ifead g@ag die T guer FuiRa &
TE ¥ T & F S-GRAPT, T Th B IeR-GRAD ST
FUS & T & Seelt| gy, [ifia e 8¢ ¥ gee smr
Th QU e drel qlendl HET U & SeR-giEdaer AT
&l Hiua & qId a1E, HET & A STR-GRddT of T &

Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the answer sheet for PART ONE is returned.
However, candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the answer sheet for PART
ONE.

wemff, sufrufa-ufer @ emER fhr e R e
FR-gieaer, e o @ R, oler e /s G
oI5 Thd § W A R R, st @ 51 Ay /
IR #F 3R BT T G seem

Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing
over his Answer sheet to the invigilator. Failing in
doing so, will amount to disqualification of candidate
in this Module/Paper.

URA-gREHT B W $ Ay Few & uuig wd 3
for@ar 3IRFH A @ g 3ellcar Ig Sitg X glafa
A o F wA-gRde uds =¥ & agof ¥

After receiving the instruction to open the booklet and
before answering the questions, the candidate should
ensure that the Question booklet is complete in all respect.

dle: afg Rl aEnor 7 #15 IR/ Raafa o el €, @ 38 e 7 396 dwwor & A @em |

Note: In case of any discrepancy found in Hindi language, English version will be treated as final.

STdl T I el o SV, dd deb Y-l o Tlel|
DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.
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AT ThH / PART ONE
@ ULt & 39S |/ Answer all the questions.)

1. = Ul R & 3R & 3 Apeg BT a0 E |
TFh G 3UYH faded ot 3R 38 ued-ug &
HTY 3T IIT T “HTANR” 3o U6 A,
3qd few arw fAdelt & 3geR, gt Y |
Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the
“OMR” answer sheet supplied with

the question paper, following
instructions therein. (1x10=10)

1.1 e A & fov Heafafaa # 4

HeAidhel BT Tl el it AT § ?

A */%+-= B =*/%+-
©C) /I*%-—+= D *%/-+=
Which of the following is the correct
order of evaluation for the below
expression ?

A */%+-= B =*1%+-
©C) /I*%—+= D) *%/-+=

1.2 G A oRadt T & o e & &

HleT AT T ® ?

(A) 3FH HewgARSG ur qur fadw
goT & Hohd © |

(B) T gRadl & Tk Hgs (S8 I,
wfew) aifa e Tadr 8 & |

(C) Variable & TH 3ih & @Y
IRFH gl & dhd |

(D) Variable frdl off oo & @
Hhd © |

Which of the following is true for

variable names in C ?

(A) They can contain alphanumeric
characters as well as special
characters.

(B) It is not an error to declare a
variable to be one of the keywords
(like goto, static).

(C) Variable names cannot start with
a digit.

(D) Variable can be of any length.

1.3

1.4

H C @IS Pl 3M3CYC AT & ?

#include <stdio.h>

int main()
intx = 2
intz= —10);
printf{ '%d\n z),
} return 0;
A 1
B o0
(C) D & HA & HRUT AAUTRA
<gdel
D) 2

What is the output of this C code ?
#include <stdio.h>
int main( )

intx = 2(&/
intz7= & ( ’y
printf("%d\n", 7);
return 0;

=10);

/
@ 1
B 0
(C) Undefined behaviour due to order
) of evaluation
D

FIS o@ A e, ARG FIS @, A AL |

main( )

int i=1;
while ()

printf(“%d”,i++);
z( i>10)
reak;

M

(A) TE U H FERH IJRT Tl TR |

(B) EEe o[U & Th A Plok BT AR |

(C) S o@ # BN o gr1 ufd-
T fopar e anfew |

(D) IS Iercll AL § |

Point out the error if any, in the while
loop :
main()

inti=1;
while ()

{
printf(“%d”,i++);
if(i>10)

break;

(A) The condition in while loop 1s must

(B) There should be a semicolon in the
while loop

(C) The while loop should be replaced
by for loop

(D) No error
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1.5

1.6

1.7

W B 3ARNTATST A P Tl alapr
FT R ?

(A) intnum[6]={2,4,12,5,45,5};

(B) intn{}={2,4,12,5,45,5};

(C) int n{6}={2,4,12};

(D) intn(6)={2,4,12,5,45,5};

What is right way to initialize arrays ?
(A) intnum[6]={2,4,12,5,45,5};

(B) intn{}={2,4,12,5,45,5};

(C) intn{6}={2,4,12};

(D) int n(6)={2,4,12,5,45,5};

C#, 3¢ 3T Th W & UFH Hald & Th
T & T # gE wY, A aedd # @
e erar ¥ 2

(A) W A vadHcH A Jog

B) W & yuA vfoEe

(C) W & IF T

D) W & 3fax vfedec & g

In C, if you pass an array as an argument

to a function, what actually gets passed ?

(A) Value of elements in array

(B)  First element of array

(C) Base address of array

(D) Address of the last element of array

# include <stdio.h>
void fun(int *ptr)

*ptr = 30;
int main()

inty = 20;
SJun(&y);

printf nood"’ y);
return 0;

}

U YA &1 HT3CYC § -

(4 20 B) 30

(C) &FUBeR 3T (D) AersH Ife

# include <stdio.h>
void fun(int *ptr)

1.8

1.9

i a1 Eew #AE ¥, dd stremp( )
B Red &ar g

A -1 B) 1

€ o (D) AR

If the two strings are identical,
then stremp( ) function returns

@ -1 B) 1

© o (D) infinity

CH td W & FAbhadA fhda s &
Hbd § ?

A 2

B) 8

© 20

(D) dgifds T A I AT 1. had
aeiked @AW & #AA AR
HFATSR

What 1is the maximum number of

dimensions an array in C may have ?
A 2

B) 8

©) 20

(D) Theoretically no limits. The only
practical limits are memory and
compilers.

1.10 &1 IGEGIGIECG] T giyor

(declaration) § IT TRHATYT (definition) :

extern int i;

(A)  SFRLA (Declaration)
(B) 3HAUA (Definition)

ptr=30; (C) W (Function)

int main() D) T (Error)

int y; 2.0; Is the following statement declaration or
Jun(&y); definition :

printf("%d", y);

return 0; extern int i;
The output of above program is : (&)  Declaration  (B) Definition
@ 20 (B) 30 (C)  Function (D)  Error
(C) Compiler error (D) Runtime error
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2. & fodm I gl faeRor ar a | A 2. Each statement below is either
IAd & | TH TN 3D fAheq g AR TRUE or FALSE. Choose the most
3T fahed WA-UT & AT U HT appropriate one and enter your
T “INTHIR” 3o g9 A, T v fAdan choice in the “OMR” answer sheet
*W,a,ﬁaﬁ' I (1x10=10) supplied with the question paper,

following instructions therein.
(1x10=10)
2.1 3fcafear *ptr++ 3R ++*ptr T ¥ |
. . 2.1 The expressions *pir++ and ++*pir are
2.2 C, strcmp () BRI @l [Fgaq & Jolell same.
A BT AT AT |
2.2 C provides the stremp () function to
2.3 TH R H W AR F I compare strings.
aRenfa A%t fomar ST Thar |
2.3 A function cannot be defined inside
2.4 Goto T YT FET T H GAY AT another function.
# I & fow Rrar ST adhaT ¥ |
2.4 Goto can be used to jump from main

2.5 3wl WA Urd &l &1 dF Piet 1S function to other function.

dog® |
2.5 The default parameter passing
2.6 10 goiis &1 g@r & fow iffcafmar mechanism is call by value.
arr 3R arr @AAE |
2.6 The expressions arr and &arr same for
2.7 HANT F HGcd DS ‘create’ H YIWT an array of 10 integers.
e T ST EhAT § |
2.7 Memory allocation can be done by using

2.8  HWeIfRAT  int fun(intarr]]); 3R int keyword ‘create’.

fun(intarr(2]); FATT |
2.8 The expressions int fun(intarr[]); and

2.9 T B ¥ el el e feaor o gohd int fun(intarr[2]); are same.

i 2.9 There can be two return statements

2.10 TP g ¥ A WS ¥ BT dF vt inside a function.

T & FhAT & | _
2.10 Break statement can be used to exit a
loop.
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3. Fred X # fqu 71w 2reel 3R et @ fema i Y # e aw Rweds we<ifda 3 / ereal
farerdt @ Y | A Rher Ue-uF & WY U a0 “HTANRT” 37X uFd A, 38 faT v g

T UTeTel il §T, &t Y | (1x10=10)
X Y

3.1 | Foris A | afwae & fore ggar A ¥

3.2 | welle B. | + @ 31 wrafdsan

3.3 | pig C. | W Rea A€ o) gahar

3.4 | # Bwrsa srRfdea D. | to @ IRTIS UhR TE &

3.5 enum is E. | v o GafRa oo
3.6 | tharere F. | &1 u21e7 s e & 3TN 3R 37T &7 Tobd &4
& forw fopar ST ©

3.7 | difSlher OR 3HTMeT G. | ue FA P aRNT PEar &

3.8 * has H. Teh hIds &
3.9 | RIS (Real) L | tereret ST @of C UTaImad 3 379y e =ifeu
3.10 | ‘¢’ & wpaiew J. | ar aRugew $r et & fow T AW

K. | suierehdt 3gaR fuiRa $er g

L. [* *

M. | ]

Page 6 SPACE FOR ROUGH WORK M3-R4-01-19



3. Match words and phrases in column X with the closest related meaning/

word(s)/phrase(s) in column Y. Enter your selection in the “OMR” answer sheet

supplied with the question paper, following instructions therein. (1x10=10)
X Y

3.1 For is A. is another name for a variable

3.2 Float B. more priority than +

3.3 Reference C. cannot return array

3.4 # define directive D. is not a correct variable type

3.5 enum is E. an entry controlled loop

3.6 Function F. is used to signal the beginning and end of code

blocks

3.7 Logical OR Operator G. defines a macro

3.8 * has H. is a keyword

3.9 Real I. function all C programs must contain

3.10 | Comments in ‘C’ dJ. is the correct operator to compare two variables
K. user defined data type
L. [* %/
M. |

Page 7 SPACE FOR ROUGH WORK M3-R4-01-19



4. ) U ITT g3 arerg 3 R & 916 g & U Uee, A1 AT o o & forw Reh Ture o mam {
TN 30U fahou Yo 3 38 U U & Ay G 91T “NTAIR” 3R w9 A, 37 1§ 71w sregeait

T TTole el §U, Gt L | (1x10=10)
A et (return) B. | 7ai@e (Global) C.  |fipa=2ra (Sequential)
D. | zafpfae E. | zemsd (do-while) Fo gfam=
G. Null H. | &G I sfeeor
J. afsex K. | 3ifer (Auto) L. grerersy
M. e

4.1 U WON dea A A A GUE fPaT ST § |

4.2  EIT H U@ dog HITS BT T Pk AT H IIH &1 AT © |

4.3 fwlec T A, TAET INTIT FTEERITFAH & |

4.4 U P IP TTHT F YA § AT fRAT AT HHATE |

45 U variable & S g8 variable & T3H &I IW@AT & |

4.6 variable S UIIITH & B & GRIT SNfad IR ARFI A E, __ variable gl & |
47 _ ueulecfAEuraui |

4.8 U UlSeR SN el 3T dicoide A AT AT aar g, g ¥ |

4.9  ERIF AW (?:) Th e

4.10 # gsft vodicg s AN TTF W EIRT A ¥ |
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4, Each statement below has a blank space to fit one of the word(s) or phrase(s) in
the list below. Choose the most appropriate option, enter your choice in the

“OMR” answer sheet supplied with the question paper, following instructions

therein. (1x10=10)
A. Return B. Global C. Sequential
D. | Infinite E. do-while F. Union
G. Null H. | Ternary I. integer
dJ. Pointer K. | Auto L. prototype
M. | Argument

4.1 An array elements are always stored in order.

4.2  The value obtained in the function is given back to main by using keyword.
4.3 By default, storage class of local variableis __

4.4 loop can be terminated using break statement.

4.5 is a variable which holds the address of another variable.

4.6 Variables that are alive and active throughout the program are called

variables.
4.7 1s an exit control loop.
4.8 A pointer that does not point to any data objectis _
4.9 The conditional operator (?:) is a

4.10 In all elements are stored in the same memory location.
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s &/ PART TWO 6 (a) =and== I & dT 3 Hr
(RS AR usT $ 53R & |/ Answer any FOUR SETEX0T & WY AT aR |
estions. .
Questions.) (b) TAFATATET WA WS @I 3M3eYe
" T ?
5. (a) Ragg Wedecw & aws 3% Sl
el & WA & WY Jolell A | main()
{
?
3T AT Hid AT & ? int x=3,y=5:
. if(x==3
b I (break), PR (continue) 3 if(x==3)
printf(“‘\n%d”,x);
MG (goto) TTHCH & 3RV & else;
1Y & HY | printf(“\n%d”,y);
/
B Fiod A d fov T graH SR oTE B |
| STEl el 3MaTH e, (a)  Explain the difference between =
&g, 5 AT Fﬁﬁ?{ e @ and = = operator with example.
— (b) What will be the output of the
following program segment ?
(a) Compare the wuse of switch main()
statements with the use of nested {
if statements. Which 1is more int x=3,y=5;
convenient ? if(x==3)
(b)  Explain break, continue and goto printf("\n%d”x);
statements with example. else;
. (13 0 $1) .
() Write a program to print all printf("\n%d”,y);
prime numbers from 1 to 100. /
Use nested loops, break or (¢)  Write a program to find the sum
continue statement wherever of the digits of a number.
necessary. (6+4+5=15) (6+3+6=15)
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(b)

(0

(a)

(b)

(©

(b)

(a)

(b)

Pier a1$ dog AR Pier a1$ YIHH
FIT § ? P a5 Jeg & g
P U a1 HEA3 B T B B
forT v e ford |

dlhd, Tolgd IR Tefewd dRuaed
¥ T FAT AT & ? ITEAT HY |

gy dugor ot & Sadgdrd,
U H Jolell Y |

What is call by value and call by
reference ? Write a program to

swap two numbers using call by
value.

What do you understand by local,
global and static variables ?
Explain.

Compare the lifetime, Scope,
Initial value and storage place of
(5+5+5=15)

all storage classes.
T fogs fore & 3MFEw & 3R
T folas foe & 30 & Ue a1
A5 Sz & oT e g ford |
C &t Bed &1 & ? affe=a
[fear & R #F ord Tad
FISd @il ST Fhdl & | BISall &
g & off =TT HY |

Write a program to add a new
node to the beginning of a linked
list and to the end of linked list.

What is a file in C ? Discuss
various modes in which a file can
be opened. Also discuss types of
files. (7+8=15)

(a)

(b)

(0

()

(b)

(0

Uged 3R 396 v W T
feoqoft ford | weh Uiger aRuad
& IBIFT IR SIS @ 3y
FIT A & ?

el uta fegar Eaferar fRama &
IETROT & A faeqd <aredr & |
TH W & gfdafdd & & oo
e granH ford |

Write a note on pointers and its
uses. What do you mean by

referencing and de-referencing of

a pointer variable ?

Explain any five string handling

functions in detail with example.

Write a program to reverse an

array. (5+5+5=15)
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